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1 330 vy Hhom ,iill\—ﬂ
2 270 UR #E ™ $ NGRS
3 260 4210 #E ™ LB
4 257 SS HET INGURE A
5 252 YS HET AR /N AR
6 250 HiEhm BHT HEE/NER
6 250 e BHT BINER
8 243 YM INETH SENFER
9 241 MH R KANER
10 240 M.I INE EE
11 236 1$811F X8 EREINER
11 236 YS E2Hm BKAENER
13 233 43 5 Th SMEFINER
14 231 4319 AT ES/hE
15 230 S.Y 7K FFHT ~'AEJ/J\E?'~§
15 230 Y.Y 7K FFHT PN [if] VAR
15 230 SY ANVETH INEINERR
15 230 TR HET BRI
15 230 HE12 2Hm B /MR
15 230 H.R = [EHAT MNEINERR
21 228 K.O 7K FFHT AR/ NERR
22 227 410 2Hm BRI INVER
23 226 EH EX 5 Th 1B/
24 225 o.h B LU N
24 225 SA 2Hm EIKFRINER
26 224 4219 AR Ei T ES/NER
27 223 fax fi=Cauit] BINER
28 221 1$09F XEH EHEINER
29 220 4332 AR Ei T ES/NER
29 220 2802F KEmh EREDNER
29 220 04 402 INETH 04 B/NER
29 220 WT INVET EHE/
29 220 MM INVET A BN R
29 220 205 HET HEmR/NMNER
35 219 IDE Gi=Eadit] i%/l\"%*a
36 218 K.H K FFHT AR /N AR
37 217 oM INVET A BN R
37 217 YM kI BHE
37 217 T-K = FRET BPNER
40 216 w.s B LT BEsE /N
40 216 Nana B LU FHE/N AR
42 215 HK 7K EZFHT NENE
42 215 4206 T ES/NER
42 215 4327 T ES/NER
42 215 1$02F NS HHEE/NER
42 215 ST INET A BN R
42 215 34 i Ith SEF/INER
48 214 TK 7K EZFHT NENEE
48 214 5 K FFHT LREHNER
50 213 3-6 Hhomh E£EINER
50 213 TY 7K FFHT R/ NERR
50 213 s.s B LU AN
50 213 415 2Hm BRI N
54 212 F.K EEET RUE/DNERR
54 212 T4 fi=Eauit] EINER
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56 211 S4110 NSl TE/NER
56 211 HS R KANER
56 211 107 HEh HEE/NER
56 211 AW i JB/NEEER
60 210 Y T Hhom IR
60 210 O.H K HT BN
60 210 Y.H 7K HT B3
60 210 H.S K HT ~i§|ﬂll\E?'§
60 210 Y.A K HT N ] /N SR AR
60 210 10 7K FFHT J:.h\ttll\-?: R
60 210 S4128 PN i) TE/MNER
60 210 KM INETH A BN R
60 210 15 kI = EA/NER
60 210 4105 2Hm HREBEINER
60 210 4206 2Hm HREBEINER
60 210 4210 E2Hm HREBEINER
72 209 0.5 7K FFHT /R
72 209 A% @410 INVETH A2 A/NER
72 209 HN HET MR/
75 208 2-11 Hhom EEINER
75 208 S.H 7K FFHT ﬁﬁlll\*?'s*c
75 208 TM 7K FFHT A [if] VAR
75 208 15 7K FFHT FREHNER
75 208 H-Y 5 Th B TR/
75 208 HE7 2Hm B /MR
81 207 ak B LU N
81 207 4206 2HTh 2INER
83 206 Y-N AR Ei T I E/NER
83 206 YK 2HTh JB/NERR
85 205 M.R K FFHT AR /N AR
85 205 4127 T ES/hER
85 205 4228 24l E S /MR
85 205 2-3 24l KEF/DNFR
85 205 04 FA409 INETH 04 B/NER
85 205 1Y INVET A BN R
85 205 or TG AN
85 205 nk B LT AN
85 205 209 HEH HEBE/NMNER
85 205 h.y f2Hm TEINER
85 205 KA = IR HT TR/
96 204 S.Y K FFHT ~’A|¥J/l\"?'~§
96 204 K.H JKEZFHET PN fif] VAR
96 204 S.M K FFHT "I‘J/J\"? 5
96 204 8 K FHT LREHNER
96 204 YR % i BT REINER
96 204 ua HET HE L /DER
102 203 TY K FHT INpIIRNEE 53
102 203 W.Y K FHT INpIIRNEE 53
102 203 K.H K FHT INpAIRNEE 53
102 203 N.A K FHT INpIIRNEE 53
102 203 Y A K FHT INpIIRNEE 53
102 203 4112 % i BT B H /MR
102 203 WH INVET INEINERS
102 203 =%=410 B LT =F/PER
102 203 35 #5:Ih SMEFINER
102 203 = 2HTh EINER
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102 203 n.k EHm TEINER
113 202 2-21 Hhot £EINER
113 202 3-2 Hhot £EINER
113 202 TY 7K FFHT N ] /N SR AR
113 202 TT 7K FFHT BN
113 202 WH i=Eanit] H 2z H/NFER
118 201 K.M 7K FFHT B3
118 201 Y.Y 7K FFHT BN
118 201 MS INET N K /DN
118 201 tr BELlL T g/
122 200 2-3 Hhoh RN
122 200 2-29 HhHhot FEINER
122 200 1-4 Hhoth EEINER
122 200 1-14 Hhoth EEINER
122 200 T.R 7K FFHT $ fit] VAR
122 200 9 7K FFHT LEEE/NER
122 200 13 7K FFHT L EE/NER
122 200 4220 AT EE/hER
122 200 Y.C AT #L/NERR
122 200 109 AT K/
122 200 K.R INE EE

122 200 t.s BElLmH N
122 200 ky HEH HE I INER
122 200 T-K HET HRINER
122 200 4310 2Hm SINER
122 200 E i=Eanit] EINER
122 200 K.A = [EHAT MNEINERR
139 199 K.MARI 5% Bif AT BRIGN AR
139 199 A-K EHULET {ER RN
139 199 Ea fi=Cauit] BINER
142 198 TM K FFHT AR /N AR
142 198 14 K FFHT FEHNER
142 198 4303 T ES/hER
142 198 4315 T ES/hER
142 198 YY 24l #AL/NERR
142 198 1-12 T KEF/DNFR
142 198 n.m TG AN
142 198 m.m B LU AN
142 198 T-A B LT FF /N
142 198 TN IR F 3R FEHET RERDNER
142 198 e S BiTh & IE /AR
142 198 BE EBZE = EET FH/NER
142 198 SR 2Hmh HzZH/hFR
155 197 204 L EITH KH/©
155 197 KY INET WK /DNER
155 197 Hi B LT FHRE/NERR
155 197 MK 2Hm EKAE/DER
155 197 H.A = [EfT MNEINERR
155 197 Fl FK 5 JEET =FE/INFER
155 197 8 RIFTH = EAE/NMNER
162 196 209 T KH/N
162 196 1-3 T KEF/INEE
162 196 d.h B LU AN
162 196 HI 2HTh H2Z H/DNER
166 195 3-13 Hbhom E£EINER
166 195 N.S JKEZFHT NENEE
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166 195 12 7K HT HLb/NER
166 195 101 HEh HEE/NER
166 195 ®RE i BN
166 195 YH i HZ H/INVER
166 195 SREE = [EHT It B /AR
166 195 419 EEMAT EEA/NER
166 195 RK i JB/NEEER
175 194 MM INET = IV
175 194 n.m BELlL T g /N
175 194 e FE f5Th BN
175 194 Y-S B Tmh TR/
175 194 28 B Tmh SLEF/INER
175 194 RO 3FK HEH BETINER
175 194 HEQ i=Eadit] B /MR
175 194 3] I FITH/IINVER
183 193 MH INVETH = JI/NFER
183 193 NY R BHE

183 193 O-N HEH B RINER
183 193 k.m 2HTh TEEINFER
183 193 S.N = [EHAT MNEINERR
188 192 O A Hhom I INERR
188 192 K.A 7K FFHT AR/ NERR
188 192 4121 oAl ES/MER
188 192 M.K INE EE

188 192 AF INVETH EE/D
188 192 M-M B LU ERFINFER
188 192 T-M 5 Th B TR/
188 192 ErR4FEE — % F9 HET EEHE/INFER
188 192 HE11 2Hm B /MR
188 192 BT fi=Cauit] BINER
198 191 4 K FFHT FEHNER
198 191 4210 T EE/hFER
198 191 AT INETH WK /DNER
198 191 HM INETH = I/NER
198 191 5|H ¥ #5:Th BIE/NER
198 191 KY HEW WU
198 191 4318 HEW RN
198 191 UM f2Hm H2Z H/INER
198 191 d.u f2Hm TRINERK
198 191 P RFTH FIIR/NVER




